spectrum number fa (107" erg em™2s7'47") fa (1077 erg em™2s7'47")

& and x

0.5

1.5

0.5

60

40

bad:279=0.068%

1.5

Mean Spectrum
Fe2 29% 42
BLR 5050 N

Illl“I_J_IIIII!III

cont

4000
0.65064

5000 6000

A@) z=

RMS Spectrum
BLR 5050 NLR 800 km/s

A (R) z = 0.65064

x(\t) = ( Data — Model A ) /o x
/(412380-4882)=1.215=>1.008

w‘w w” ‘ : : il o ‘w‘ 5

"m\n‘w‘g;\‘." ‘,“W.\,\“‘.‘.vg.;‘u‘g Rl ek
il ikl i

il w.“‘r,w"-w AR ‘1“'\1,“1\”‘ e e

'MLH‘1”'.‘”;‘0“;\\\“\\3“ ke et el e
I Rt

‘v‘."vv'u”‘w\‘,‘.hm ‘.,Hh il Rt
i Y

i ‘H i
1 H,hm‘m i | “"E‘c \“Hi f

i i w“‘w{"“““‘-‘-'ﬂ“{}‘sw w“m '”Jff“ 1 31‘3‘1?‘3-‘ vl‘”vlu"w(‘ ‘
it \\\““H\“\“““‘ ‘H‘w\':‘u‘w W“.‘mguc,“,l‘vlu,c‘g”h‘“v‘;‘\.“‘“”‘\c“,“ “““W“‘”“ e “ Il I‘““m fli

LA AR e ““‘"‘l‘uww\ i

Wi ‘I ity il oot “‘uuuu‘. i \Hw.\“r‘.‘:‘ ““‘dv\“ﬂf“‘.‘\““‘“‘”:v‘h"‘ iy
W H‘ kI el

"H I Hm“h\\l\‘.‘l““‘hv

\ b l"\H‘V‘i]”‘ﬂf\‘“:I‘t]‘ll"““, ‘;““‘\“q\]"‘m‘\” ‘;h\;;“ ‘w‘:“ tly oy fi

oy e 1\‘,‘1‘!‘13*54‘1“\“.“pﬁh‘\xm‘” W\:.:\,,\‘\,“hv“.lum..\",:‘ :u‘l”qw fid
g H“&u“l‘..w"w];‘.m‘i‘i‘l“‘.‘“‘ \g‘”“”“”‘ e A A i bl ””uu\“u-“‘”:rngu‘,‘
/I ;“-:‘m (i LT \ w i “:‘mu”‘ bl Wi hi “::.““ “

fir \“‘\‘n bl i
0 b LA A A
60005>+B.Dﬂ
4<-B.00

L vw‘y ‘:‘ “““l‘!“l e "‘““M Www b 1“9“1“"“'*";\‘\“:u“\"l\-\]ﬂ"‘“]“"J"r\v““"“”‘
A

5000

A (&) z = 0.65064

4 = 0.045(25) x = 1.071(71) => 1.071(71)
med(mad) A

LN [N B S B B B B "'.'|"" T T T T T[Tt

AT i £ A N s
ERAT T4t 3yt Fo 00 Wi g 4

TRT

A (R) z = 0.65064

-2

f) (10717 erg em™2s7'87")

BLR
20

& and x

0.2

-0.2

40

1.3

1.2

0.9

1.5

Continuum Lightcurve
rm634

—— 77—
el
L JN

0
Ac %

n T

28388 36944 48098

21808 ) ) ) ) 62608

7000 7500 8000 8500
MJD — 2450000

9000

BLR Lightcurve

N - N - il
7500 8000 2000

MJD — 2450000

Corrections

7000 7500 8000

MJD — 2450000

& = 0.07(29) x = 0.966(27) => 0.964(28)
med(mad) A

L e L L L AL A
¥ TR e - X

N -
8000
MJD — 2450000



